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Instruction :

(1) Candidates are required to answer all questions.
(it) Question number 1 (one) is compulsory and is of objective type.

(tit) Question number 1 has 20 (twenty) questions carrying 2 (two) marks
each.

(iv) Question number 2 to 6 are of descriptive nature and answers should
not exceed 500-600 words.

(v) Question number 2 to 6 are of equal value carrying 32 (thirty two)
marks each.

.

(i) 3reff @ weft g1 & I fera & |

(it) 397 9%a1 1 (V) HfAaTd & U5 aegiia JHR 1 & |

(iii) wv7 gEar 1 (T%) 7 20 () 57778 | 5@F 707 2 () FFF & |

(iv) 397 §&31 2 8 6 faatuncas & fo7a 3w 500-600 51 & 3iferw 7 8l |

(v) 97 GE1 2 8 6 F Tt 391 F T T & T 4% 597 32 (F\) FF FH & |

Marks
e
1. Choose the correct answer in each of the following objective questions.
Fraferfaa sxgfss i § @ g@t s I = |
I) Sound of frequency below 20 Hz are called
(a) Audio sounds (b) Infrasonics

(20x2=40)

(c) Ultrasonics (d) Supersonics

20 Hz & &1 1gft aret s ) ed &
(a) ¥ &= (b) Fa%g @ (c) T &t (d) guEaTEht
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II) A body is lifted f_'r.om the ground onto a table by you. The amount of work
performed in the process not depends upon
(a) the path along which you lifted the body
(b) the time taken by you in the process
(c) the weight of the body

(d) your own weight

311y foreft areg ot T @ U e W 3BT R T & | 39 Toran o wearfed s el el o
?

(a) I%] I F H 99 § 9 IS

(b) 38 foran & 31qa Feraan wwg e

(c) T%G & I T

(d) 319 & T W

III) The orbit of revolution of the earth around the sun is

(a) Circular (b) Elliptical

(c) Parabolic (d) Hyperbolic
o % ST 3 gPeEE B ATl e @ Uy

(a) FATHT (b) FeigETRR

(c) TaEE (d) drefoaeia

IV) When a conservative force does positive work on a body, its potential energy

(a) increases (b) decreases

(c) remains unaltered (d) fluctuates
e T GifErd o foret fie ot g i a8, o) saeh feufos st
(a) et B (b) st B

(c) erafeafdia wdt & (d) wEwdt e &

V) Father of Genetics is _

(a) Mendel (b) Morgan

(c) Muller (d) Hugo de Vries
iR forver & fren Freffaa § 3 A 2 7

(a) Hew (b) =

(c) FER (d) =M < of

E27SM6




NEVR AR 3 20 (PVI)

Marks

VI) Stages in proper.sequence of Prophase I are

(a) Zygotene, L:eptotene, Pachytene, Diakinesis, Diplotene
(b) Leptotene, Zygotene, Pachytene, Diplotene, Diakinesis
(c) Leptotene, Pachytene, Zygotene, Diakinesis, Diplotene
(d) Diplotene, Diakinesis, Pachytene, Zygotene, Leptotene
Qataee 3 awTel i FHay B o |

(a) SR, SR, YRR, Ty, fewdm

(b) T2, S, YR, fewadn, sawmaim

(c) e, ¥R, ST, SRR, feeidm

(d) fewirdm, eremAfaE, TR, SRR, derE

VII) Haemophilia is

(a) an infectious disease (b) sex linked disease
(c) caused by malnutrition (d) none of the above
Erariferar |
(a) T ga I SR 7 (b) fom & weifer i @
(c) TV 3 FHRYT el & (d) T 8 S T
VIII) The organelles called as “power house” of the cell are
(a) Golgi apparatus (b) Ribosomes
(c) Mitochondria (d) Lysosomes
T & g SToTe 1 it F T ESE | e S e 7
(a) oSt TaREH (b) TESISIH
(c) TSR (d) wEEIST
IX) The major nutrients for plants are
(a) Fe, Mn, Zn b)yN, P, K"
(c) Cu, Mo, B (d) Co, Cl, Na
e} o fore ek o &
(a) wirer, Frfw, R (b) IS, T, TewT
(c) FIR, HifcreeTH, TRH (d) FraTee, FARM, HifsT
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X) The uses of Neem tree
(a) Timber (b) Medicinal
(c) Fertilizer (d) All of the above
i U & I
(a) FI3 (b) Ty
(c) @ (d) 3wt vt

XI) Food-grain includes the following crops

(a) Cereals and Pulses
(b) Cereals and Oil seeds
(c) Cereals, Pulses and Oil seeds
(d) Cereals, Pulses, Oil seeds and Spices
T | frefafad wael afffera g 8
(a) U Ud Seted
(b) uT4 T deie
(c) =1, Teie Ud deied
(d) a1, SeTed, deTed e HETe

XII) As per Planning Commission Report (1989) on Agroclimatic zones of India,
Jharkhand comes under
(a) Central Plateau and hill region
(b) Western Plateau and hill region
(c) Eastern Plateau and hill region
(d) Trans Gangatic plain region
v ST Rt (1989) 3 wfiapar i st 3 e v a3 st st 7
(a) 7 TIT T TETSH &
(b) wfzert woR ud veTel &
() Tl o wH wereh &
(d) W Ty &

E27SM6
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XIIT) Which four components constitute an ecosystem ?

(a) Water, Carb(')n, Oxygen, Sulphur
(b) Soil, Temperature, Humidity, Rainfall

(¢) Abiotic materials, Producers, Consumers, Decomposers
(d) Herbivores, Carnivores, Bacteria, Parasites
5 = ges gry il o1 fmfor S e ?

(a) e, FIeH, SFISH, HoH

(b) 21, AT9AM, 3ATEAT, a0

(c) s et Seureeh, S, foriisten

(d) ST, TETERY, SiaTy, wsiet

XIV) The advantage of implementing rain water harvesting is

(a) It recharges ground water levels

(b) It reduces run-off

(c) It avoids flooding

(d) All of the above
33 A1 EAfET % T BRI © ¢

(a) T% UTSE A1 i =Tt LT 8

(b) i &1 58 ST A Ukl &

(c) 9T § ST &

(d) 390a @+t

XV) Sardar Sarovar Project is built on

(a) Sone river

(b) Tapti river

(c) Narmada river

(d) None of the above

TR Tt Nisee fore Tl W R ?

(a) E4

(b) Tt

() T

(d) =8 T

E27SM6 ~ P.TO.
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XVI) Red data book provides data on
(a) red flower pla’nts
(b) red coloured fishes
(c) red coloured insects
(d) endangered plants and animals
SR TH A I d gIA R ?
(a) AT g9 AT el i
(b) ST 1 el Hoferdl i
(c) e T1 o el
(d) TeauT: 99 iR aygedt

XVII) The HIV and AIDS (Prevention and Control) Act was implemented in

(a) 2014 (b) 2015

(c) 2016 (d) 2017

HIV td AIDS (famer wa =) wee forg @ret am ga ?

(a) 2014 (b) 2015

(c) 2016 (d) 2017

XVIII) GIS deals with which kind of data ?

(a) Numeric data (b) Binary data
(c) Spatial data (d) Complex data
GIS forg g = 21 & Hafea & ?

(a) HEATHS 2 ; (b) ITEHI 2

() Turfies 2 (d) = g

XIX) Conventional source of energy is

(a) Wind energy (b) Solar energy
(c) Coal (d) Nuclear energy
TR Fe -8 &

(a) Yo Sil (b) ¥R Fsit

(c) e (d) iRy Fsit

E27SM6
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XX) Leprosy is caused due to
(a) Clostridium ' (b) Salmonella
(c) Mycobacterium (d) Bacillus
e i a P g M B Fro g ?
(a) FoTESETH (b) TR
(c) ATgRIEEm (d) e

2. What are infrasonic and ultrasonic sounds ? Name the sources of infrasonic sound

in nature. Describe the characteristics and applications of ultrasonic sound. 32

YT Td WIH=T a4l 1 § ? YHfd § NUHH &9 % @il 1 AW ol | Ty @ il
forervenedi wa 3w 1 9 |
OR /srera

State Kepler's laws of planetary motion. Distinguish between Lunar eclipse and
Solar eclipse.

e & e T % fagrea i avia = | SmEn vE e % o e san |

~ 8. What do you understand by sex linked inheritance ? Illustrate with suitable
examples. 32

forT ggera enmifd @ 3779 7 g9Hd & 7 39 ISTe0 SR GHE |
-OR/arrat

Name four important hormones of Pituitary gland. Discuss their functions.

figy Y & SR yq@ TRE % W fog | 79 s i e

4. What do you mean by Agroforestry. Describe the importance of Agroforestry and
their management. ' ] 32

F ATl & o7 1 gEEa 7 F anfeht % weed Ug wareH @i auia # |
OR /arg=n
~ Explain in brief the salient features of Pradhan Mantri Phasal Beema Yojna.
T BEe ST FerT Yy st i smen #+ |
E27SM6 " P.T.0.
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5. What is solid waste management ? Write causes, effects and control methods of
urban and industrial waste. 32

3G afiTse 1 yay F1 7 A0 ok i amfte % wr, ywE 9 e 3 3o fod |
OR/ag=n

Explain the evidences and causes of climate change.

Sierarg aftad & yHi 3fR FHRen  faater wega i |

6. What is global energy crisis ? Give a detailed account of alternative source of
energy. 32

AT il Gohe 1 8 7 FeTl & Sehiedsh Grdl o1 feregar faraor ford |
OR /3teat

Define cancer. Give an account of various kinds of cancers. Mention a list of
carcinogens. )

S 1 ) oo ¥ | S 3 b B o R | e e ¥
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